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	QUESTION I
Choose the correct answer
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	iii. Zero.
	iv. None of the previous.

	

	2. Given that 
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	i. Zero.
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	iv. None of the previous.

	

	3. If 
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 is equal to:

	i. 1.
	ii. Zero.
	iii. 
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	iv. None of the previous.

	

	4. If 
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 is equal to:

	i. 20.
	ii. 22.
	iii. 24.
	iv. None of the previous.
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	iv. None of the previous.

	

	6. 
[image: image17.wmf](

)

cosh

Fxx

=

 is an anti-derivative of:
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	8. If 
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	iv. None of the previous.

	

	9. A polar coordinate representation of the rectangular point 
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	iv. None of the previous.

	

	10. The parametric equations 
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	QUESTION II

	1. Using the definition of hyperbolic functions, show that
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	2. Find a polar equation corresponding to the rectangular equation
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	3. Find a rectangular equation corresponding to the polar equation
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4. Evaluate the following integrals:

i. 
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	QUESTION III

	1. Sketch the graph of the polar equation 
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	2. Find the arc length of the function 
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	3. Evaluate the following integrals:

i. 
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	QUESTION IV

	1. Sketch the area determined by the following functions
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	2. Find the area determined by the functions above.



	3. Find the volume when the area above is rotated about the 
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	4. Determine whether the improper integral 
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converges or diverges
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